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---------- GUES T L@ N cemonmaam-

V[l + V(1 + a)] = 3Va

V[1 + V(1 + a)] = 3va

1+ V(1 + a) = a~(2/3)

V(1 + a) = an(2/3) - 1

1+ a = (ar(2/3) - 1)"2

1+ a=a™(4/3) - 2-a~(2/3) + 1

a™(4/3)

2:a7(2/3) +1-1-a=#o

ar(4/3) - 2-a”(2/3) - a = ©

[a~(4/3) - 2-a”(2/3) - a]/a

Il
(o)

a~(1/3) - 2-an(-1/3) - 1 =0
ar(1/3) - 2-(1/a”(1/3)) - 1 = o
a~(1/3) - 2/a~(1/3) - 1 =10

soit k = a~(1/3)

k - 2/k -1 =20

kr2/k - 2/k - k/k = @
(k"2 - 2 - k)/k = ©
k"2 - 2 - k=0

k"2 - k - 2 =20

A=(-1)2 - 4:1-(-2) =1+ 8 =9



VA = +/9 = 13

e racine #1: k

e racine #2: k

————— racine #1 -----
a™(1/3) = k =2
a~(1/3) = 2

a = 2"3

a =8

contrédle:

e V[1 + V(1 + 8)] = 3V8

e 2 = 2 <-- correct !
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a”(1/3) =G
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a = -1"3

(-(-1) + 3)/2-1

(-(-1) - 3)/2-1

(1 + 3)/2

(1 - 3)/2

4/2

-2/2

-1

a = -1

controle:

e V[1 + V(1 + (-1))] = 3v(-1)
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————— résultat final -----

Ha=38

-1 <-- incorrect (racine rejetée) !



